A 5.00-kg block free to move on a horizontal, frictionless surface is attached to one end of a light horizontal spring.  The other end of the spring is held fixed.  The spring is compressed 0.100 m from equilibrium and released.  The speed of the block is 1.20 m/s when it passes the equilibrium position of the spring.  The same experiment is now repeated with the frictionless surface replaced by a surface for which the coefficient of kinetic friction is 0.300.  Determine the speed of the block at the equilibrium position of the spring. 

I thought it would be 

Ki + Ui = Kf +(k+ Uf

½(mv2) + mgh = 1/2mv2 + (k + mgh

½(5.00kg)(1.20m/s)2 +(5.00 kg)(9.8 m/s2)(0.100m) = ½(5.00kg)v 2 + 0.300 +(5.00 kg)(9.8 m/s2)(0)

v = 1.36 m/s 

However, I don’t think that this is the right answer can you please help me?

